1. Determine the Gy, A, Rout, Rin, and Ayo for a common Drain Amplifier.
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2. Forthe CG Amplifier gm =1mA/V &amp; Rp =15kQ. Find Rin, Rout , Av, Avo and Gy, for R, =15kQ

and Rz =50Q. Calculate the overall voltage gain become for Rsig=1kQ? 10K Q? 100K Q?
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3. Consider a source follower having gn=1mA/V, ro=150KQ, Rsz;=1MQ, and Ri=15KQ calculate Ri,,
Rout (with and without ro), Avo, Ay and overall small signal voltage gain G,
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4. A current mirror circuit has Vpp=3V, li=100uA, lo= 100uA. calculate the value of R if Q; and Q3
are matched and L=1pm and W=10pum, V:=0.7V and u,Cox=200pA/V2. Also find the ro of the
Isource if VA=20V/uM
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5. For a Common Gate amplifier with active load, which has W/L=7.2um/0.36um, unCox=387pA/V?,
ro=18KQ, 1p=100uUA, gm=1.25mA/V, x=0.2, R=10KQ, R,=100KQ, Cg=20fF, Cg¢=5fF, C,=0, determine
Avo, Rin, Rout, Gy and fy




6. Determine the small signal voltage gain for a common source amplifier with an active load
having Vas=3V, Vin=|Vip|=0.6V, tnCox=200uA/V?, uxCox=65uA/V2. Length of all transistors are
0.4um and Width is 4um with Van= 20V, |Vap|=10V and Iref=100uA.




